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( Human Resource Management)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed : 1x10=10
o S Oes fral ¢

(@) “There is no relationship between
manpower planning and professional

planning.” (State True or False)
“Tia *([ i I (oRioTe 2IREEEE e
I T R [ (%% & &% fF74)

Contd.



(b)

()

(@)

(e)

“Performance appraisal system can
always be free from personal bias.”
' (State True or False)

“FR AT eI el T Jiesre
*FHifogs [ & 27 AlE
(&% @ qu% [30))

Human Resource is an important
of an organisation.
(Fill in the blank)

SR T @Ol RN G G |
(37 412 29 1)
Virtual organisation is also known as
: (Fill in the blank)

SR AT e et A7 |
(371 312 97 )

Which one of the following is not a
fringe benefit ?

SoId (ICHI AN AI-RY T2 2
(i) Health and Safety

Y % 7=
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(i) Pension Scheme
(ofzes bl

(iii) Employee Security
FHEE FEsel

(iv) Compensation
GISCIRE

(Choose the correct answer)

(2% ool IR Blersdl)

() Which of the following is a hindrance
to effective training?

FERiRe ! TPy AR AR TR =2
(i) Career planning workshop
TGS ARFEAITA Tl
(i) Aggregate spending on training is
inadequate
eifRpeid @7iTe SdIe 3o
(iij) Mentoring
oI
(iv) Career counselling
SEciEas R i

(Choose the correct answer)

(e GEeh!r IR Clersdl)
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(g9 Which one of the following is not a
function of Human Resource
Management ?

oI (B! S =217 RIS G5! PR 27 2

(i) Planning

AR

(i) Staffing
o1 Rgfewad

(i) Preparation of budget
A FOFI

(tv) Weather forecasting
BISAERCIRreoai Rain|

(Choose the correct answer)

(%% Cech) Az Tleq)

(h) Which of the following is not a limitation
of Human Resource Accounting ?

ST T N ) | < e B ) B B e e M Lo
CETIRe

() Opposition of trade union

P 7Y Kemipae
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(i) Lack of suitable policy
THIS IO IOl

(iii) Supply of information to investors
RN 9 @i

(iv) None of the above

87 dbIS =T
(Choose the correct answer)

(9% ©GICh! iz G sar)

() Which of the following is .electropic

training medium ?

fsERe e @yfe e T e

(i) Audio~visua1 medium
VT ST

(i) Computer-centric medium
FACHE- (TP L

(iti) Video conferencing
fofos i

i) AliL o theRaboe

SIS AP
(Choose the correct answer)

(w5 Geweh! e Cfreqr)
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() Which of the following is in correct

order ?

Fefkike @ e @ wig?

(i) Job analysis, recruitment,

induction, selection, placement

o ResRel, s, Wi, A, 2

(i) Recruitment, selection, placement,
induction, job analysis"

s

(@) Job analysis, recruitment,

selection, placement, induction
3 R, 99, AR, 29 e,
B[

(iv) All of the above
8799 SBIREIR

(Choose the correct answer)

(3% GG3Ch! e Glaea)
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2. Write very short answer : 2x5=10
wfe 53¢ ©ed frl ¢

(@) Write two differences between Human '
Resource Management and Human

Resource Development.

STi= STAA7 ARG S S 7247 R ere
o<l 761 #A1L i

(b) What is placement?

cFiforesad S 62

(c) State two importances of work-life

balance.

TG SIRFRIOR 75 g G 9 | -

(d) Mention two objectives of transfer.

R g5 Sr SEd |

(e) What is downsizing?

w[iEE AHIHA S [ 2
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3. Answer any four of the following :
5x4=20

o/ el bif<bi9 el fal g

(a) Describe in brief the role of a human
resource manager.

I A ARG Bfsikel bt Akt 1 |

(b) Distinguish between recruitment and

selection.

S OIS AR T A1 (€ |

(c) What are the requirements of a good

wage plan ?

bl ©fe] G b ST RSIEE 52

(d) Explain the relationship between the

employer and employee.

RSt Wi FOIE eT 7= [ 590 |

(e) State the importance of ethics in

human resource management.

S AT GEZIAAI [ OX T 430G Sz 34 |
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(fl Write in brief any two methods of

performance appraisal.

el JEIRR R 701 0o b &l |

4. Answer any four of the following :
| 10x4=40

weTe MANERE “[l [z vifeeis ©ed &l 8

(i) Explain the meaning and importance
of training. Distinguish between
training and executive development.

sifefrem o1l Sl ey iR 9 | A i
TR [ e #1e<y (<S4l |

(i) Why is it necessary to maintain
industrial health ? What measure do
you suggest to improve the mental and
physical health of employees in a

private sector organisation ?
5+5=10

erifie =g Ie2 I 69 dr@emE 2 e
HZ| OIE TN TR S #1< 1 %
Tae F6E Al ofl & o fare
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(iii) Explain the steps involved in human
resource planning.

S T 2| AR i 1 |

(iv) - What is recruitment? Explain the

processes of recruitment. 3+7=10"
See] Jfeice 6 @it e e e e
341

(v) Describe the importance of human
resource information system. What are
the steps involved in designing human
resource information system ?

5+5=10

SFE TR Ll HEed @y 69 91 | T
T2 B2 AAEs 2l (e Sive
2nCEEIEE o f52

(vi) Explain the emerging challenges of
human resource management in the

present business environment.

TE PN RS N T TR
AOJIZITIR 1 4 |
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(vii) Describe the essentials of a ‘good
incentive plan. Why should it consist
of both monetary and non-monetary
incentives ? Discuss.

<1 SieT Grpolfd SR ATAIGIR CoAmTR I
41| G5l AT Rer Sie SHi-Rer Ty
©reid 57 AHICe! ©ibw 2 Sl T4 |

(viii) Discuss the problems of performance
appraisal. How can performance
appraisal be made more effective ?

EaRiR 0 G Ros b M BES ISR R G VT)
= | PRI T (A SR TEe] T
2
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